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Emphasis

most important

remember that

Addition

first (second...)

one (two...)

especially important for one thing

actually
here again
above all
note that
of course

indeed
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then

and / also

in addition
moreover/ besides
furthermore, so far

next, another

Comparison

both (and)
stmilarly
likewise

again

in the same way
as much as
more (than)
less than

not only... but also
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Cause and Effect Change of Direction

because
since

so, therefore
hence

thus
consequently
that is why
as a result

for this reason

Time Sequence
meanwhile

at the same time
after/ before
while when

SO now

then

now

first (second)
next

until

but
on the other hand
however
in contrast
ironically
yet
(even) though
otherwise

still, or, instead

Conclusion

in conclusion.

in conclude
in summary
to summarize
to sum up

in short

in general

Example

for example
for instance
to illustrate
such as

like

that is
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Activity 1
Complete the following sentence by choosing the phrase that would follow the

underlined transition words (signal words). Mark \/ in front of the letter.

Example: Although potatoes are richer in food value than any other vegetable,
they are not always a wise choice crop because they need a

considerable amount of room. Consequently,

a. they are the most common vegetable in a garden
b. people don’t eat potatoes very much
v e they can be more economically grown on farms

d. farmers overcharge for their potatoes

The right answer is c. because if potatoes are not a wise choice for a garden
because of the amount of room they need, they could be grown on a farm more

economically, since a farm does have adequate space.

1. Glass was precious to Egyptians, who used it interchangeably with gemstones,

but

a. itis over 4,000 years old.

b. its novelty as an artist’s material prevents its being taken seriously.

c. today it has come out of factories and into the workshops.

d. today it is so commonplace in everyday objects that it is seldom given a

second thought.
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2. Glimpses into the prenatal world via ultrasound imaging occasionally show

behavior such as

a. the development of the central nervous system.
b. the sex of the baby-to-be.

c. a fetus sucking its thumb.

d. structuresas small asthe pupil of an eye of a second-trimester fetus.

3. Although the animals and plants that live in the world’s various deserts come

from different ancestral stocks,

a. they have solved their problems of survival differently.
b. none of them have adapted to the jungles.
c. they are from different deserts.

d. they resemble one another to a surprise degree.

4. Children dress up in witches hats or goblin suits to play pranks when
celebrating the ancient pagan holiday of Halloween. In contrast,
a. Thanksgiving is a traditional holiday.
b. Thanksgiving is aways celebrated on the fourth Thursday of November.
c. familiesdress more formally and set elegant tables for the more serious
occasion of Thanksgiving.

d. children enjoy Thanksgiving
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5. Everything from chairs and fishing poles to rope and paper can be made from

bamboo. Equally important,

a. this giant grass grows in warm climates.
b. fresh spring bamboo shoots take longer to cook than winter ones.
c. a variety of food can be made from this giant grass.

d. preserved bamboo shoots can be used in soups instead of fresh ones.

6. Earth satellites transmit telephone and television signals, relay information
about weather patterns, and enable scientists to study the atmosphere. This
information has helped people communicate ideas and expand knowledge.

In conclusion,

a, satellites have enriched the lives of humankind.

b. satellites are expensive to send into space and sometimes are difficult to
maintain,

¢. a dish antenna can pick up 300 TV channels from satellites.

d. satellites are placed in an orbital region around Earth called the

geostationary belt,

7. In 1940s, when many of today’s astronauts hadn’t even been born, comic strip
detective Dick Tracy fought crime in an atomic-powered space vehicle.

In addition to that,

a. many of today’s astronauts have used a kind of atomic-powered space vehicle,
b. he used lasers to process gold and a two-way wrist TV for communication.

¢. Dick Tracy was a very popular comic strip in the U.S.
d. astronauts used lasers to process gold and communicated on long-distance flights
using two-way wrist TVs,
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8. Until recently, chlamydial infections could be detected only by a complicated
test that took up to seven days to complete and which was offered only at a

few medical centers. As a result,

a. up to 10 percent of all college students are afflicted with it.
b. chlamydial infections were rarely diagnosed.
c. chlamydial infections are treated promptly.

d. doctors prescribe large doses of antibiotics to treat the infections.

9. Medical researchers have recently developed a nonsurgical method of treating
heart disease that, in some cases,
a. is just as effective as coronary bypass surgery but is much less
expensive and disabling.
b. can replace a clogged artery by the transplanting of a vein or artery
from another part of body.
c. continues to be underused because coronary bypass operations are
lucrative for hospitals and Surgeons.

d. requires opening up the chest and opening under local anesthesia.

10. Neurons, which cannot divide, are the basic cells of the brain. Glial céls,
which can increase in number, provide support and nourishment to the
neurons. It was hypothesized that if Eingtein’s brain was more active in some

areas, more glial cels would be found there. Indeed,
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a. scientists found that the physicist’s brain contained more glial cells per
neuron in all four areas, compared with the brains of eleven normal
males.

b. scientists’ previous work had shown that animals put in environments
that stimulate mental activity develop more glial cells per neuron.

c. scientists examined sections of the upper front and lower rear of both
hemisphere because these areas are involved in “higher” thinking.

d. scientists found that even though there was evidence he had greater
intellectual processing, it cannot be determined if Einstein was born

with this or developed it later.

II. Using other words in the sentences (as signal words)
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1. Using the verb “to be”
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gewlinaamaen salmon Wiih@aveasiinonld

Activity 2
Look at the underlined word and write its meaning on the line.

1. A delegate is an elected representative of the people.

2. A journalist is a newspaper writer.

3. Xypoxia is an illness caused by deficiency of oxygen in the tissues of the body.

4. A porcupine is a large climbing rodent that is covered with sharp spines of

defense.

5. The Celtic religion centered on the worship of a pantheon of nature deities.
Their religious ceremonies included animal sacrifices and various forms of
magic. Druid were the priests who led people in this highly ritualistic worship.

“Druids” were

a. nature deities
b. religious ceremonies
¢. animal sacrifices

d. Celtic priests

30 EN 329



2. Using “OR”
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Activity 3.

Find out the synonym of the underlined word and write it on the line.

1. Altitude, or the height above sea level, is a factor that determines climate.

2. Vespers, or evening worship, can be heard at St, Matthew’s Cathedral.

3. In some American Indian tribes, the squaw, or woman, was the owner of all

property.
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4. According to many psychologists, phobias or irrational fears, represent or are
symbolic of repressed anxiety. They are usually persistent, illogical, and
intense. The most useful treatment has been through behavior-modification
therapy.

A phobiais a .

a. psychologist

b. fear

¢. symbol

d. treatment

5. Honeybees live in colonies of many thousand members. A typical colony has a

queen that lays eggs; a fertile male, or drone; and sexually undeveloped
females called workers. The workers care for the queen and larvae, gather
nectar, make and store honey, and protect the hive.

A drone is .

a. an egg
b. a male bee
c. an underdeveloped female

d. a worker

3. Using referents
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You- you, He-him, She-her, It-it, and They-them 3 PTG this, that, these, those Waz

i1 possessives NINUA

PRI

Ms. Leena is sitting in front of the window. She has a computer on the
desk. You may see her work oﬁ it every day; she is doing her final report.
This is my coat. Which is yours?
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It is easier for some people to remember related words if they use symbols,

diagrams, or word maps. Here are a few examples.

This is a word map for adjectives that mean the same as “strange.”

weird
unusual peculiar
> STRANGE <
eccentric odd
unique
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Activity 4
Tell what the underlined word refers to. Write your answer on the line.

Example: The solar-powered batteries in the ERS-1 are expected to function

for at least two years, during which time the satellite will be able to gather more
information than any previous satellite.

Answer: The underlined word refers to “satellite.”

1. The farmers were concerned about the growing number of boll weevils. An

infestation of these insects could destroy the cotton crop overnight.

2. The groom struggled with his tuxedo. He wondered why he had to wear these

kinds of clothes to get married.

3. Emma was told to put the sheets in the hamper, but she found the basket too

full of soiled clothes to fit the sheets in.

34 EN 329



4. Important officials visiting President Roosevelt were surprised by his
menagerie of pets. No previous president had filled the White House with

such a variety of animals.

A menagerie is a group of

a, officials
b. presidents
c. animals

d. staff members

5. At least 50 weed species fight off competitors by emitting toxins from their
roots, leaves, or seeds. These positions do their work in a dozen ways, such as
inhibiting germination of seeds. and destroying photosynthesis abilities.

Toxins are

a. roots
b. leaves
c. seeds

d. poisen
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